Elementary Properties of Triangles in the Inner Product Space

Muhammad Zakir

Department of Mathematics, Hasanuddin University, Makassar 90245, Indonesia correspondence author: zakir@fmipa.unhas.ac.id

Abstract: The triangle in the Euclid room is well known. This paper discusses the expansion of triangles in Euclid's space into inner product spaces. It will be proven several properties of triangles in the Euclidean space which are maintained in the inner product space.

Keywords : Euclid Space, Inner Product Space, Normed Space, Triangeles

1. INTRODUCTION

Triangles in Euclid's space are already very popular, Euclid in his book Element [8,9] has defined a triangle, which is a form that has three angles and three sides. Next in algebra in the inner product space, by utilizing the Cauchy-Swarz theorem has defined angles [6] which allows expanding the understanding of triangles in abstract space [1,2,3,4]. This paper will discuss the expansion of triangles in Euclid's space into inner product spaces. Besides defining triangles in the inner product space, also will be proven elementary properties of the triangle.

Definition 1.1. [7,10] An inner product space (or pre-Hilbert space) is a vector space X with an inner product defined on X. A Hilbert space is a complete inner product space (complete in the metric defined by the inner product). Here, an inner product on X is a mapping of $X \times X$ into the scalar field K of X; that is, with every pair of vectors x and y there is associated a scalar which is written $\langle x, y \rangle$; and is called the inner product of x and y, such that for all vector x, y,z and scalars α we have :

- 1. $\langle x + y, z \rangle = \langle x, z \rangle + \langle y, z \rangle$
- 2. $\langle \alpha x, y \rangle = \alpha \langle x, y \rangle$
- 3. $\langle x, y \rangle = \overline{\langle y, x \rangle}$
- 4. $\langle x, x \rangle \ge 0$ and $\langle x, x \rangle = 0 \iff \langle x, x \rangle = 0$

Theorem 1.1. [7,10] If x and y are vectors in a real inner product space X, and if α is a scalar, then:

- (a) $\|x\| \ge 0$ with equality if and only if x = 0.
- (b) . $\|\alpha x\| = \|\alpha\| \|x\|$
- (c) d(x, y) = d(y, x)
- (d). $d(x, y) \ge 0$ with equality if and only if x = y.

Definition 1.2. [1,2,6] If X is a real inner product space, then the *norm* (or *length*) of a vector x in X is denoted by and is defined by $||x|| = \sqrt{\langle x, x \rangle}$ and the distance between two vectors is denoted by d(x, y) and is defined by :

$$d(x,y) = ||x - y|| = \sqrt{\langle x - y, x - y \rangle}$$

Theorem 1.2. [6] Cauchy–Schwarz Inequality If x and y are vectors in a real inner product space X, then: $|\langle x, y \rangle| \le ||x|| ||y||$

Definition 1.3. [6] Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and for each $x, y, \in X \setminus \{0\}$ defined the angle between two vectors x and y:

$$\angle(x, y) = \arccos\left(\frac{\langle x, y \rangle}{\|x\| \|y\|}\right) \tag{1.1}$$

Because $\langle x, y \rangle = ||x||^2 + ||y||^2 - ||y - x||^2$ hence, from (1.1) the cosine rules are as follows :

 $||x||^{2} = ||y||^{2} + ||z||^{2} - 2||y|| ||z|| \cos \angle (y, z)$ (1.2) $||y||^{2} = ||x||^{2} + ||z||^{2} - 2||x|| ||z|| \cos \angle (-x, z)$ (1.3)

 $||y|| = ||x|| + ||y|| = 2||x|| ||y|| \cos (-x, 2)$ (1.3) $||z||^2 = ||x||^2 + ||y||^2 - 2||x|| ||y|| \cos (x, y)$ (1.4)

Furthermore, we can get the rules of the length of the sides of a triangle :

$$||x|| = ||y|| \cos \angle (x, y) + ||z|| \cos \angle (z, -x)$$
(1.5)

$$||y|| = ||x|| \cos \angle (x, y) + ||z|| \cos \angle (y, z)$$
(1.6)

$$||z|| = ||y|| \cos \angle (y, z) + ||x|| \cos \angle (z, -x)$$
(1.7)

Definition 1.3 [1,2,3,4,5] Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and for each $x, y, z \in X \setminus \{0\}$, defined $\Delta[x, y, z]$ as $\{x, y, z\}$ who fulfills x + z = y which is equipped with an angle $\angle(x, y), \angle(y, z)$, dan $\angle(z, -x)$. Furthermore $\Delta[x, y, z]$ called a triangle in the inner product space.

2. RESULT

This paper will begin by proving the cosine rule to cause the sine rule. Likewise the sine rule causes the cosine rule. This is, as is true in Euclid's space.

Theorem. 2.1. Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and $\Delta[x, y, z]$ a triangle in the inner product space, then the cosine rule if and only if the sine rule.

Proof.

(⇒) Clear that $\cos^2 \angle (x, y) + \sin^2 \angle (x, y) = 1$ $\sin^2 \angle (x, y) = 1 - \cos^2 \angle (x, y)$

International Journal of Academic and Applied Research (IJAAR) ISSN: 2643-9603

Vol. 3 Issue 12, December – 2019, Pages: 1 – 4

$$= 1 - \left(\frac{\langle x, y \rangle}{\|x\| \|y\|}\right)^2$$
$$= \frac{\|x\|^2 \|y\|^2 - \langle x, y \rangle^2}{\|x\|^2 \|y\|^2}$$

 $||x|| ||y|| \sin \angle (x, y) = \sqrt{||x||^2 ||y||^2 - \langle x, y \rangle^2} = K \qquad 2.2a$

In a similar way obtained :

$$||y|| ||z||\sin \angle (y,z) = \sqrt{||y||^2 ||z||^2 - \langle y,z\rangle^2} = K \qquad 2.2b$$

 $\|x\| \|z\| \sin \angle (-x, z) = \sqrt{\|x\|^2 \|z\|^2 - \langle -x, z \rangle^2} = K \quad 2.2c$ or

$$\frac{\sin \angle (x, y)}{\|z\|} = \frac{\sin \angle (y, z)}{\|x\|} = \frac{\sin \angle (-x, z)}{\|y\|} = K$$
(2.2d)

(\Leftarrow) Consider the equation (2,2d), then obtained :

$$K^{2}(||x||^{2} + ||y||^{2} - ||z||^{2})$$

$$= ||x||^{2}||y||^{2}||z||^{2}(\sin^{2} \angle (y, z) + \sin^{2} \angle (z, -x) - \sin^{2} \angle (x, y))$$

$$= ||x||^{2}||y||^{2}||z||^{2}(\sin^{2} \angle (y, z) + \sin^{2} \angle (z, -x)))$$

$$= ||x||^{2}||y||^{2}||z||^{2}(\sin^{2} \angle (y, z) + \sin^{2} \angle (y, z) + \sin^{2} \angle (y, z) \cos^{2} \angle (y, z) + \sin^{2} \angle (y, z) \cos^{2} \angle (y, z) + \sin^{2} \angle (y, z) \sin^{2} \angle (y, z) + \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z) - \cos^{2} \angle (-x, z))$$

$$= ||x||^{2} ||y||^{2} ||z||^{2} (\sin^{2} \angle (y, z) (\sin^{2} \angle (z, -x)) + \sin^{2} \angle (z, -x) (\sin^{2} \angle (y, z)) - 2\sin \angle (y, z) \cos^{2} \angle (-x, z))$$

$$= ||x||^{2} ||y||^{2} ||z||^{2} (\sin^{2} \angle (y, z) (\sin^{2} \angle (z, -x)) + \sin^{2} \angle (z, -x) (\sin^{2} \angle (y, z)) - 2\sin \angle (y, z) \cos^{2} \angle (-x, z) - \cos^{2} \angle (y, z) \sin^{2} \angle (-x, z)$$

 $= 2||x||^{2}||y||^{2}||z||^{2}(\sin^{2} \angle (y, z) (\sin^{2} \angle (z, -x)))$

 $- \sin \angle (y, z) \cos \angle (z, -x) \cos \angle (y, z) \sin \angle (z, -x)$ = 2||x||²||y||²||z||²(sin ∠(y, z) sin ∠(z, -x) (sin ∠(y, z) sin ∠(z, -x) cos ∠(y, z) cos ∠(z, -x))) $= 2||x||^{2}||y||^{2}||z||^{2} (\sin \angle (y, z) \sin \angle (z, -a) \cos \angle (x, y))$ $= 2||x||K||y||K \cos \angle (x, y))$ $= 2K^{2}||x||||y|| \cos \angle (x, y)$ From this we get the cosine rule, $||x||^{2} + ||y||^{2} - ||z||^{2} = 2||x||||y|| \cos \angle (x, y) \text{ or}$ $||z||^{2} = ||x||^{2} + ||y||^{2} - 2||x||||y|| \cos \angle (x, y)$

Theorem. 2.2. Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and $\Delta[x, y, z]$ a triangle in the inner product space, then the number of angles $\angle(x, y) + \angle(y, z) + \angle(z, -x) = \pi$.

Proof.

Note that
$$\angle(x, y) + \angle(y, z) + \angle(z, -x) = \pi$$
.
 $\Leftrightarrow \angle(x, y) + \angle(y, z) = \angle(z, -x) - \pi$.
 $\Leftrightarrow \cos(\angle(x, y) + \angle(y, z)) = \cos(\angle(z, -x) - \pi)$.
 $\Leftrightarrow \cos(\angle(x, y)) \cos(\angle(y, z)) - \sin(\angle(x, y)) \sin(\angle(y, z)) = -\cos(\angle(z, -x))$.
 $\Leftrightarrow \cos(\angle(x, y)) \cos(\angle(y, z)) - \sin(\angle(x, y)) \sin(\angle(y, z)) + \cos(\angle(z, -x)) = 0$
 $\Leftrightarrow \frac{\langle x, y \rangle}{\|x\| \|y\|} \frac{\langle y, z \rangle}{\|y\| \|z\|} + \frac{\langle z, -x \rangle}{\|z\| \|x\|} - \frac{K}{\|x\| \|y\|} \frac{K}{\|y\| \|y\| \|z\|}$
 $\Leftrightarrow \frac{\langle x, y \rangle \langle y, z \rangle}{\|x\| \|y\|^2 \|z\|} + \frac{\langle z, -x \rangle}{\|z\| \|x\|} - \frac{K}{\|x\| \|y\|^2 \|z\|}$
 $\Leftrightarrow \frac{4K^2 - 4K^2}{4\|x\| \|y\|^2 \|z\|} = 0$, as a result
 $\angle(x, y) + \angle(y, z) + \angle(z, -x) = \pi$.
Example 2.1
Let $(M^{2\times 2}, \langle \cdot, \cdot \rangle)$ be the inner product space . Choose a
triangle $\Delta[x, y, z]$, with $x = \begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$, $y = \begin{pmatrix} -1 & 5 \\ 6 & 8 \end{pmatrix}$,
 $z = \begin{pmatrix} -2 & 3 \\ 3 & 4 \end{pmatrix}$.
 $\|x\| = \sqrt{\langle x, x \rangle} = \sqrt{30}$
 $\|y\| = \sqrt{\langle y, y \rangle} = \sqrt{126}$
 $\|z\| = \sqrt{\langle z, z \rangle} = \sqrt{38}$
 $\angle(-x, z) = \arccos\left(\frac{\langle -x, z \rangle}{\|x\| \|z\|}\right)$
 $= \arccos\left(\frac{-29}{\sqrt{30\sqrt{38}}}\right) = 149, 19^{0}$
 $\angle(y, z) = \arccos\left(\frac{\langle y, z \rangle}{\|x\| \|y\|}\right)$
 $= \arccos\left(\frac{67}{\sqrt{126\sqrt{38}}}\right) = 14,47^{0}$
 $\angle(x, y) = \arccos\left(\frac{\langle x, y \rangle}{\|x\| \|y\|}\right)$
 $= \arccos\left(\frac{59}{\sqrt{30\sqrt{126}}}\right) = 16,34^{0}$

International Journal of Academic and Applied Research (IJAAR) ISSN: 2643-9603 Vol. 3 Issue 12, December – 2019, Pages: 1 – 4

So obtained :

 $\angle(x, y) + \angle(y, z) + \angle(z, -x) = 16,34^{\circ} + 14,47^{\circ} +$ 149, $19^0 = 180^0 = \pi$. Example 2.2. Let $(\mathbf{C}[1,0], \langle \cdot, \cdot \rangle)$ be inner product space. Choose triangle $\Delta[x, y, z]$, {x(t), y(t), z(t)} with : $x(t) = 2t^3 - 3t^2 + 2t + 1$ $y(t) = 2t^3 + 4$ $z(t) = 3t^2 - 2t + 3$ Then obtained : $\|x(t)\|^{2} = \int_{0}^{0} (4t^{6} - 12t^{5} + 17t^{4} - 8t^{3} + 2t^{2} + 4t)$ $= \left[\frac{4}{7}t^7 - 2t^6 + \frac{17}{5}t^5 - 2t^4 + \frac{2}{3}t^3 + 2t^2 + t\right]_{0}^{1}$ $= 3,64 \\ \|x(t)\| = 1,9$ $\|y(t)\|^2 = \int (4t^6 + 4t^3 + 16)dt$ $=\left[\frac{4}{7}t^{7}+t^{4}+16t\right]_{0}^{1}$ = 17,57 $\|y(t)\| = 4,19$ $||z(t)||^{2} = \int (9t^{4} - 12t^{3} + 22t^{2} - 6t + 9)dt$ $= \left[\frac{9}{5}t^{5} - 3t^{4} + \frac{22}{2}t^{3} - 3t^{2} + 9t\right]^{1}$ ||z(t)|| = 3,48 $\langle -x(t), z(t) \rangle = \int_{0}^{1} (-6t^{5} + 13t^{4} - 18t^{3} + 10t^{2} - 4t)$ $= \left[-t^{6} + \frac{13}{5}t^{5} - \frac{18}{4}t^{4} + \frac{10}{3}t^{2} - 2t^{2} - 3t \right]_{0}^{1}$ = -4.57 $\langle y(t), z(t) \rangle = \int_{0}^{1} (6t^{5} - 4t^{4} + 6t^{3} + 12t^{2} - 8t)$ $+ 12)dt = \left[-t^6 - \frac{4}{5}t^5 + \frac{6}{4}t^4 + 4t^3 - 4t^2 + 12t\right]_0^1$ $\langle x(t), y(t) \rangle = \int_{-1}^{1} (4t^6 - 6t^5 + 4t^4 + 10t^3 - 12t^2 + 8t)$ + 4)dt

$$= \left[\frac{4}{7}t^7 - t^6 + \frac{4}{5}t^5 + \frac{10}{4}t^4 - 3t^3 + 4t^2 + 4t\right]_0^1$$

= 7,87
$$\angle (-x,z) = \arccos\left(\frac{\langle -x,z \rangle}{\|-x\|\|z\|}\right)$$

$$= \arccos\left(\frac{-4,57}{1,9.3,48}\right)$$

$$= 133,70^0$$
$$\angle (y,z) = \arccos\left(\frac{\langle y,z \rangle}{\|y\|\|z\|}\right)$$

$$= \arccos\left(\frac{11,7}{4,19.3,48}\right)$$

$$= 36,64^0$$
$$\angle (x,y) = \arccos\left(\frac{\langle x,y \rangle}{\|x\|\|y\|}\right)$$

$$= \arccos\left(\frac{7,87}{1,9.4,19}\right)$$

$$= 9,66^0$$

$$y) + \angle (y,z) + \angle (z,-x) = 9,66^0 + 36,64^0 + 70^0 = 180^0 = \pi.$$

Definition 2.1. Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and $\Delta[a, b, c]$ a triangle in the inner product space. Triangle $\Delta[a, b, c]$ named an isosceles triangle if two sides have the same norm.

Example 2.3.

∠(*x*, 133,

Let $(M^{2\times 2}, \langle \cdot, \cdot \rangle)$ be the inner product space . Choose a triangle $\Delta[x, y, z]$, with $x = \begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$, $y = \begin{pmatrix} -1 & 3 \\ 7 & 7 \end{pmatrix}$, $z = \begin{pmatrix} -2 & 1 \\ 4 & 3 \end{pmatrix}$. $\|x\| = \sqrt{\langle x, x \rangle} = \sqrt{30}$ $\|y\| = \sqrt{\langle y, y \rangle} = \sqrt{108}$ $\|z\| = \sqrt{\langle z, z \rangle} = \sqrt{30}$

Theorem 2.3. Let $(X, \langle \cdot, \cdot \rangle)$ be inner product space and $\Delta[x, y, z]$ a triangle in the inner product space. The opposite angles of the isosceles triangle are equal. Proof.

Let ||x|| = ||z|| be from the side length rule then obtained $||y|| \cos \angle (x, y) + ||z|| \cos \angle (z, -x)$ $= ||y|| \cos \angle (y, z) + ||x|| \cos \angle (z, -x)$ $\Leftrightarrow ||y|| \cos \angle (x, y) = ||y|| \cos \angle (y, z)$ $\Leftrightarrow \cos \angle (x, y) = \cos \angle (y, z)$ $\Leftrightarrow \angle (x, y) = \angle (y, z)$ International Journal of Academic and Applied Research (IJAAR) ISSN: 2643-9603 Vol. 3 Issue 12, December – 2019, Pages: 1 – 4

Example 2.4.

Let
$$(M^{2\times2}, \langle \cdot, \cdot \rangle)$$
 be the inner product space . Choose a
triangle $\Delta[x, y, z]$, with $x = \begin{pmatrix} 1 & 2 \\ 3 & 4 \end{pmatrix}$, $y = \begin{pmatrix} -1 & 3 \\ 7 & 7 \end{pmatrix}$,
 $z = \begin{pmatrix} -2 & 1 \\ 4 & 3 \end{pmatrix}$.
 $\|x\| = \sqrt{\langle x, x \rangle} = \sqrt{30}$
 $\|y\| = \sqrt{\langle y, y \rangle} = \sqrt{108}$
 $\|z\| = \sqrt{\langle z, z \rangle} = \sqrt{30}$
 $\angle(x, y) = \arccos\left(\frac{\langle x, y \rangle}{\|x\|\|y\|}\right)$
 $= \arccos\left(\frac{54}{\sqrt{30}\sqrt{108}}\right)$
 $= 18,44^{0}$
 $\angle(y, z) = \arccos\left(\frac{54}{\sqrt{108}\sqrt{30}}\right)$
 $= 18,44^{0}$

3. ACKNOWLEDGMENT

The authors would like to express their gratitude to Hasanuddin University and RISTEKDIKTI Indonesia, and supported by LP3M UNHAS with Research Grant No. 005 / ADD / SP2H / LT / DPRM / VIII / 2019.

4. REFERENCES

- [1]. Zakir M, Eridani, dan Fatmawati, 2018. The New Triangle in Normed Space, Global Journal of Pure and Applied Mathematics.ISSN 0973-1768 Volume 14, Number 3 (2018), pp. 369–375.
- [2]. Zakir M, Eridani, dan Fatmawati, 2018a. Expansion of Ceva Theorem in the Normed Space with the Angle of Wilson, International Journal of Science and Research, Volume 7, Number 1, Januari 2018, ISSN (Online): 2319-7064.
- [3]. Zakir M, 2019, Equivalence of Sine and Cosine Rules with Wilson's Angle in Normed Space, International Journal of Academic and Applied Research, ISSN: 2643-9603, Vol. 3 Issue 5, May – 2019, Pages: 23-25
- [4]. Zakir M, 2019, fA New Rectangle With Wilson's Angle in Normed Space, International Journal of Science and Research, ISSN: 2643-9603 Vol. 3 Issue 6, June – 2019, Pages: 40-43
- [5]. Milicic, P.M, 2011. The Thy-Angle and g-Angle in a Quasi-Inner Product Space, *Mathematica Moravica*, Vol. 15-2; 41 – 46.
- [6]. Anton H dan Rorres C, 2010, *Elementary Linear Algebra*, Tenth Edition, John Wiley & Sons, Inc
- [7]. Brown, A.L., dan Page, A. 1970. Elements of Functional Analysis. Van Nostrand Reinhold Company, London.

- [8]. Euclid. 2008. *Euclid's Elemens of Geometry*, (edisi Revisi, Richard Fitzpatrick),
- [9]. Gibson, C,G, 2004, *Elementary Euclidean Geometry*, Cambridge University Prees, New York.
- [10]. Kreyszig. E 1978. Introductory Functional Analysis With Applications, John Wiley & Sons. Inc. New York.